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https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

1. A ladder leaning against a wall makes an
angle of 60° with the horizontal. If the foot of
the ladder is 2.5 m away from the wall, find the

length of the ladder

o Watch Video Solution

2. An observer 1.7 m tall is 20,/3 m away from a
tower. The angle of elevation from the eye of
the observer of the top of the tower is 30°.

Find the height of the tower

| & |


https://dl.doubtnut.com/l/_Wi2hdaMAZ1eO
https://dl.doubtnut.com/l/_KX5cMnrnpOkB

| ¥ Watch Video Solution |

3. A flagstaff 7 m long is fixed on the top of a
tower standing on the horizontal plane. From
a point on the ground, the angles of elevation
of the top and bottom of the flagstaff are 60°
and 45° respectively. Find the height of the

tower correct to one decimal place,

o Watch Video Solution



https://dl.doubtnut.com/l/_KX5cMnrnpOkB
https://dl.doubtnut.com/l/_EpAhFNz0iSwz

4. A bird is sitting on the top of a tree 80 m
high. From a point on the ground the angle of
elevation of the bird is45°. The bird flies
horizontally such that it remains at a constant
height from the ground. After 2 seconds the
angle of elevation of the bird from the same

point is 30°. Find the speed of the flying bird.

o Watch Video Solution



https://dl.doubtnut.com/l/_SfNzJwngwGhI

5. As observed from the top of a lighthouse
100 m high abov e sea level, the an g les o f d
ep ression o f a ship, sailing directly tow ards
it, changes from 30° to 60°. Find the distance
travelled by the ship during the period of

observation.

o Watch Video Solution

6. A tower and a pole stand vertically on the

same level ground. it is observed that the


https://dl.doubtnut.com/l/_n80KTnc4NaN0
https://dl.doubtnut.com/l/_JGdtmGenOKDf

angles of depression of top and foot of the
pole from the top of the tower of height 60m

is 30° and 60° respectively. find the height of

the pole.

o Watch Video Solution



https://dl.doubtnut.com/l/_JGdtmGenOKDf

7. A tower and a pole stand vertically on the
same level ground. it is observed that the
angles of depression of top and foot of the
pole from the top of the tower of height 60m

is 30° and 60° respectively. find the height of


https://dl.doubtnut.com/l/_Yk9CCIZ9lCUd

the pole.

o Watch Video Solution



https://dl.doubtnut.com/l/_Yk9CCIZ9lCUd

8. From the top of a lighthouse, the angles of
depression of two ships on the opposite sides
of it are observed to be a and p. If the height
of the lighthouse is h m etres and the line
joining the ships passes through the foot of
the lighthouse, show that the distance betw

een the ships is

h(tana + tang)

tana tan 3

o Watch Video Solution



https://dl.doubtnut.com/l/_ogaay9D8Io4c

9. A vertical tree 15 m high is broken by the
wind such that its top just touches the ground
and makes an angle of 60° with the ground.
At what height from the ground did the tree

break

o Watch Video Solution

10. A tower is 50cm high. Its shadow is x mtrs
shorter when the suns altitude is 45° than

when it is 30°. Find the value of x.

| & I


https://dl.doubtnut.com/l/_qOuNYf7eO8IF
https://dl.doubtnut.com/l/_76LenHGoyxgr

| ¥ Watch Video Solution |

Textual Exercises 12 1

1. A circus artist is climbing a 20m long rope,

which is tightly stretched and tied from the
top of a vertical pole to the ground.Find the
height of the pole, if the angle made by the

rope with the ground levelis 30° ( see Figure)

° Watch Video Solution



https://dl.doubtnut.com/l/_76LenHGoyxgr
https://dl.doubtnut.com/l/_cse4oVitri1W

2. A tree breaks due to storm and the broken
part bends so that the top of the tree touches
the ground making an angle 30° with it.The
distance between the foot of the tree to the
point where the top touches the ground is

8m.Find the height of the tree.

o Watch Video Solution

3. A contractor plans to install two slides for

the children to the play in a park. For the


https://dl.doubtnut.com/l/_MmIYALBJLGZD
https://dl.doubtnut.com/l/_cWUyHPN5gLYF

children below the age of 5 years, she prefers
to have slide whose top is at a height of 1.5m,
and is inclined at an angle of 30° to the
ground, whereas for elder children, she wants
to have a steep slide at a height of 3m, and
inclined at an angle of 60° to the ground.
What should be the length of the slide in each

case ?

o Watch Video Solution



https://dl.doubtnut.com/l/_cWUyHPN5gLYF

4.The angle of elevation of the top of a tower
from a point on the ground, which is 30m
away from the foot of the tower, is 30°. Find

the height of the tower.

o Watch Video Solution

5. A kite is flying at a height of 60m above the
ground. The string attached to the kite is
temporarily tied to a point on the ground. The

inclination of the string with the ground is


https://dl.doubtnut.com/l/_QbTfl48pZc6i
https://dl.doubtnut.com/l/_KiIG2v7yeGjT

60°. Find the length of the string, assuming

that there is no slack in the string.

° Watch Video Solution

6. A 1.5m tall boy is standing at some distance
from a 30m tall building.The angle of elevation
from his eyes to the top of the building
increases from 30° to60° as he walks towards
the building.Find the distance he walked

towards the building.

° Watch Video Solution



https://dl.doubtnut.com/l/_KiIG2v7yeGjT
https://dl.doubtnut.com/l/_cpObaElsXhcN

7. From a point on the ground, the angles of
elevation of the bottom and the top of a
transmission tower fixed at the top of a 20m
high building are 45° and 60° respectively.

Find the height of the tower.

o Watch Video Solution

8. A statue, 1.6m tall, stands on the top of a
pedestal. From a point on the ground, the

angle of elevation of the top of the statue is


https://dl.doubtnut.com/l/_cpObaElsXhcN
https://dl.doubtnut.com/l/_OMuQk0LoSnUV
https://dl.doubtnut.com/l/_pLYrITf7NcTV

60° and from the same point the angle of
elevation of the top of the pedestal is 45°.

Find the height of the pedestal.

o Watch Video Solution

9. The angle of elevationof the top of a
building from the foot of the tower is 30° and
the angle of elevation of the top of the tower
from the foot of the building is 60° . If the
tower is 50m high, find the height of the

building.

| e |


https://dl.doubtnut.com/l/_pLYrITf7NcTV
https://dl.doubtnut.com/l/_5B6vlOWHmoRO

& Watch Video Solution I

10. Two poles of equal heights are standing
opposite each other on either side of the road,
which is 80m wide. From a point between
them on the road, the angles of elevation of
the top of the poles are 60° and 30°,
respectively . Find the height of the poles and

the distances of the point from the poles.

° Watch Video Solution



https://dl.doubtnut.com/l/_5B6vlOWHmoRO
https://dl.doubtnut.com/l/_WExJprLtXIeY

11. A TV tower stands vertically on a bank of a
canal. From a point on the other bank directly
opposite the tower, the angle of elevation of
the top of the tower is 60°. From another
point 20m away from this point on the line
joining this point to the foot of the tower, the
angle of elevation of the top of the tower is
30° (see Figure ). Find the height of the tower

and the width of the canal.

° Watch Video Solution



https://dl.doubtnut.com/l/_ZRE8z9QvjpJa
https://dl.doubtnut.com/l/_JZRd18cd2upo

12. From the top of a 7m high building, the
angle of elevation of the top of a cable tower
is 60° and the angle of depression of its foot

is 45° .Determine the height of the tower.

o Watch Video Solution

13. As observed from the top of a 75m high
lighthouse from the sea-level, the angles of
depression of two ships are 30° and 45° . If

one ship is exactly behind the other on the


https://dl.doubtnut.com/l/_JZRd18cd2upo
https://dl.doubtnut.com/l/_atk9AXHwroF8

same side of the lighthouse, find the distance

between the two ships.

° Watch Video Solution

14. A 1.2 m tall girl spots a ballon moving with
the wind in a horizontal line at a height of 88.2
m from a ground. The angle of elevation of the
balloon from the eyes of the girl at any instant
is 60°. After some time, the angle of elevation
reduces to 30°. Find the distance travelled by

the balloon during the interval.

| e |


https://dl.doubtnut.com/l/_atk9AXHwroF8
https://dl.doubtnut.com/l/_3rAkcYxP1oPz

& Wwatch Video Solution I

15. A straight highway leads to the foot of a
tower. A man standing at the top of the tower
observes a car at an angle of depression of30°
, which is approaching the foot of the tower
with a uniform speed. Six seconds later , the
angle of depression of the car is found to be
60"(@)'.Find the time taken to reach the foot

of the tower from this point.

° Watch Video Solution



https://dl.doubtnut.com/l/_3rAkcYxP1oPz
https://dl.doubtnut.com/l/_SEWHcFUmD8Z8
https://dl.doubtnut.com/l/_1T1cO2SVKaff

16. The angle of elevation of the top of a tower
from two points at a distance of 4m and 9 m
from the base of the tower and in the same
straight line with it are complementary. Prove

that the height of the tower is 6m.

o Watch Video Solution

Additional Questions Mcq


https://dl.doubtnut.com/l/_1T1cO2SVKaff

1. The ratio of the length of a rod and its
shadow is 1: /3 . The angle of elevation of the

sun is

A.30°

B.45°

C.60°

D.90°

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_HQ5n0laDMrlE

2. If the height and length of the shadow of a

man are the same, the angle of elevation of

the sun is

A.30°

B.60°

C.45°

D.15°

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_CsyeQfmd2C6s

3. In a rectangle, the angle between the
diagonal and a side is 30° and the length of
its diagonal is 8 cm. The area of the rectangle

Is

A. 16cm?

16

cm
V13

B.

C. 164/3cm?

D. 8,/3cm?

Answer: c

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_350P16wNOJ7r

4. If the angle of elevation of the top of a
tower from a distance of 100m from its foot is

60°, the height of the tower is

A.100,/3m

100
B.—— m

V3
C.50,/3m

200
D.—m

V3

Answer: a

| s ]


https://dl.doubtnut.com/l/_350P16wNOJ7r
https://dl.doubtnut.com/l/_jSYP5LuzP7JF

| ¥ Watch Video Solution

5. From the top of a dliff 25 m high the angle

of elevation of a tower is found to be equal to

the angle of depression of the foot of the

tower. The height of the tower is

A.25m

B.50 m

C.75m

D.100 m


https://dl.doubtnut.com/l/_jSYP5LuzP7JF
https://dl.doubtnut.com/l/_tcWKq09VVI6z

Answer: b

o Watch Video Solution

6. On the same side of a tower 300 m high, the
angles of depression of two objects are 45°
and 60° respectively The distance between

the objects is m

A 117

B.127

C. 217


https://dl.doubtnut.com/l/_tcWKq09VVI6z
https://dl.doubtnut.com/l/_YuPPjett0n1o

D.473

Answer: b

° Watch Video Solution

7. The angles of elevation of an aeroplane
flying vertically above the ground as observed
from two consecutive milestones 1 km apart
are 45° and 60°. The height of the aeroplane

from the ground is

A (v/3+1) km


https://dl.doubtnut.com/l/_YuPPjett0n1o
https://dl.doubtnut.com/l/_RlzMei05Ywoa

B. (3 + /3) km

(v3+ 1) km

L\D|l—‘ 1\9||—\

(3+ V3) ko

Answer: d

o Watch Video Solution

8. The height of two poles are 80 m and 65 m.
If the line joining their tops makes an angle of
45° with the horizontal, the distance between

the poles is


https://dl.doubtnut.com/l/_RlzMei05Ywoa
https://dl.doubtnut.com/l/_7r97GrCSTo9H

A.75m

B.15m

C.225m

D.30m

Answer: d

o Watch Video Solution

9.If the angle of elevation of a tower from two

points distant a and b (a < b) from its foot


https://dl.doubtnut.com/l/_7r97GrCSTo9H
https://dl.doubtnut.com/l/_iiEQKCsnvReI

and on the same straight line from it is 30°

and 60°, the height of the tower is

B.\/ab
C../a—b
5 Ve
b
Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_iiEQKCsnvReI

10. In the given figure, DB = 10 cm, CA = 8 cm

and IBDC =135°, then AB =

C
s
135°
A D 1Wcem B
A.10 cm
B.18 cm
C.12 cm

D. 26 cm


https://dl.doubtnut.com/l/_K83U2haU0ITh

Answer: b

o Watch Video Solution

Additional Questions Very Short Answer Type

Questions

1. The tops of two towers of height x and y
standing on a level ground subtend angles of
30° and 60° respectively at the centre of the

line joining their feet. Find x:y

° Watch Video Solution



https://dl.doubtnut.com/l/_K83U2haU0ITh
https://dl.doubtnut.com/l/_I9AydKOBUYsY

2.In the figure a tower AB is 20 m high and BC,
its shadow on the ground is 20,/3 m long.

Find the sun's altitude

° Watch Video Solution



https://dl.doubtnut.com/l/_I9AydKOBUYsY
https://dl.doubtnut.com/l/_US4WAJIrJhdp

3. A pole casts a shadow of length 2,/3 m on
the ground when the sun's altitude is 60°.

Find the height of the pole.

o Watch Video Solution

Additional Questions Short Answer Type 1

Questions

1. A window in a building is at a height of 10 m
from the ground. The angle of depression of a

point P on the ground from the window is 30°


https://dl.doubtnut.com/l/_sEJmMgVLfaj7
https://dl.doubtnut.com/l/_4aVpbIAYBfpp

. The angle of elevation of the top of the
building from the point P is 60°. Find the

height of the building.

° Watch Video Solution

2. Two men on either side of a building 75 m
high and in line with the base of building
observe the angles of elevation of the top of
the building as 30° and 60°. Find the distance

between the two men.

° Watch Video Solution



https://dl.doubtnut.com/l/_4aVpbIAYBfpp
https://dl.doubtnut.com/l/_OcA4CXK0d1rM

3. An electrician has to repair an electric fault
on a pole of height 4m. He needs to reach a
point 1.3 m below the top of the pole to do the
repair work. What should be the length of the
ladder that he should use which when inclined
at an angle of 60° to the horizontal, enables

him to reach the required position?

o Watch Video Solution



https://dl.doubtnut.com/l/_OcA4CXK0d1rM
https://dl.doubtnut.com/l/_esTnOHN0hmiZ

4. The shadow of a flagstaff is three times as
shadow when the sun's rays meet the ground
of 60°. Find the angle between the sun's rays

and the ground at the time of longer shadow.

o Watch Video Solution

5. A verticle pole of height 6m casts a shadow
4m long on the ground, and at the same time
a tower on the same ground casts a shadow

28m long. Find the height of the tower.

| & I


https://dl.doubtnut.com/l/_4D4kOJxSfPIU
https://dl.doubtnut.com/l/_952nYqfePQeg

| ¥ Watch Video Solution |

Additional Questions Short Answer Type 2

Questions

1. From the top of a tower 100 m high, a man
observes two cars on the opposite sides of the
tower with angle of depression 30° and 45°
respectively. Find the distance between the

cars

° Watch Video Solution



https://dl.doubtnut.com/l/_952nYqfePQeg
https://dl.doubtnut.com/l/_DcxCG6xgo3Wo
https://dl.doubtnut.com/l/_cVGkOZ6fAIy9

2. From the top of a vertical tower, the angle
of depression of two cars on the same straight
line with the base of the tower, at an instant,
is found to be 45° and 60°. If the cars are 100
m apart and are on the same side of the tower,

find the height of the tower

° Watch Video Solution

3. A ladder of length 6 m makes an angle of
45° with the floor while leaning against one

wall of a room. If the foot of the ladder is kept


https://dl.doubtnut.com/l/_cVGkOZ6fAIy9
https://dl.doubtnut.com/l/_D4x3nJouOZWq

fixed on the floor and it is made to lean
against the opposite wall of the room, it
makes an angle 60° with the floor. Find the

distance between these two walls of the room.

o Watch Video Solution

4. From the top of a tower 50 m high, the
angle of depression of the top of a pole is 45°
and from the foot of the pole, the angle of

elevation of the top of the tower is 60°. Find


https://dl.doubtnut.com/l/_D4x3nJouOZWq
https://dl.doubtnut.com/l/_VTh0f2zRuIDn

the height of the pole if the pole and tower

stand on the same plane.

° Watch Video Solution

5. From the of a vertical building of 50,/3m
height on a level ground the angle of
depression of an object on the same ground is
observed to be 60°. Find the distance of the

object from the foot of the building.

° Watch Video Solution



https://dl.doubtnut.com/l/_VTh0f2zRuIDn
https://dl.doubtnut.com/l/_EcakiCxB49Iz
https://dl.doubtnut.com/l/_Z1LXrBgvnuqe

6. Two windmills of height 50 m and 40,/3 m
are on either side of the field. A person
observes the top of the windmills from a point
in between them. The angle of elevation was
found to be45° and 30°. Find the distance

between the windmills.

o View Text Solution



https://dl.doubtnut.com/l/_Z1LXrBgvnuqe

Additional Questions Long Answer Type

Questions

1. The angle of elevation of the top Q of a
vertical tower PQ from a point X and the
ground is 60°. From a point Y, 40m vertically
above X, the angle of elevation of the top Q of
the tower is 45°. Find the height of the tower

PQ and the distance PX. (use /3 =1.73).

° Watch Video Solution



https://dl.doubtnut.com/l/_l6u0EpB09hBN

2.The angle of elevation of an aeroplane from
a point on the ground is 60°. After a flight of
30 seconds the angle of elevation becomes
30°. If the aeroplane is flying at a constant
height of 3000 /3 m. Find the speed of the

aeroplane.

o Watch Video Solution

3. The angle of elevation of a cloud from a

point 60 m above a lake is 30° and the angle


https://dl.doubtnut.com/l/_B1kI0e4JV8Bo
https://dl.doubtnut.com/l/_CVN3PPSBGZsi

of depression of the reflection of the cloud on
the lake is 60°. Find the height of the cloud

from the surface of the lake.

o Watch Video Solution

4.A 1.5 m tall boy is standing at some distance
from a 30 m tall building. The angle of
elevation from his eyes to the top of the
building increases from 30° to 60° as he
walks towards the building. Find the distance

he walked towards the building.

| |


https://dl.doubtnut.com/l/_CVN3PPSBGZsi
https://dl.doubtnut.com/l/_tYUSBPjdBNak

& Watch Video Solution I

5. Two poles of equal height are standing
opposite to each other on the either side of
the road which is 80 m wide. From a point P
between them on road, the angle of elevation
of the top of a pole is 60° and the angle of
depression from the top of another pole at
point P is 30°.

Find the heights of the poles and distances of

the point P from the poles.

o Watch Video Solution



https://dl.doubtnut.com/l/_tYUSBPjdBNak
https://dl.doubtnut.com/l/_sNz13Pqx9pJT

6. A fire in a building B is reported on
telephone to two fire stations P and Q, 20 km
apart from each other on a straight road. P
observes that the fire is at an angle of 60° to
the road and Q observed that it is at an angle
of 45° to the road. Which station should it
send its team and how much will that team

have to travel?

o Watch Video Solution



https://dl.doubtnut.com/l/_sNz13Pqx9pJT
https://dl.doubtnut.com/l/_Bw5lhlpYUcsh
https://dl.doubtnut.com/l/_eFJf3Ku9aAV6

7. At the foot of the mountain the elevation of
its summit is 45°, after ascending 1000 m
towards the mountain up a slope of 30 degree
inclination, the elevation found to be 60°.

Find the height of the mountain.

o Watch Video Solution

Additional Questions Hots Higher Order Thinking

Skills Questions



https://dl.doubtnut.com/l/_eFJf3Ku9aAV6

1. The angle of elevation of the top of a hill
from the foot of a tower is 60° and the angle

of elevation of the top of the tower from the

foot of the hill is 30°. If the height of the

tower is 50 m, what is the height of the hill?

A.180 m

B.150 m

C.100 m

D.120 m

Answer: b


https://dl.doubtnut.com/l/_IMHtdSpSi1v6

o Watch Video Solution

2. The angle of depression of the top and
bottom of a building 7 m tall from the top of a
tower is 45° and 60° respectively. Find the

height of the tower in metres.

7(3 + 1/3)
(3-v3)

l\D|\I L\D|\1

(3++3)
7(3 — /3


https://dl.doubtnut.com/l/_IMHtdSpSi1v6
https://dl.doubtnut.com/l/_3PbJxGZ04F9h

Answer: c

° Watch Video Solution

3. A circus artist climbs from the ground along
a rope which is stretched from the top of a
vertical pole and tied at the ground at a
certain distance from the foot of the pole. The
height of the pole is 12 m and the angle made
by the rope with the ground is 30°. Find the
distance covered by the artist in reaching the

top of the pole.


https://dl.doubtnut.com/l/_3PbJxGZ04F9h
https://dl.doubtnut.com/l/_ojqEaZ7ByLCd

A. 24 m

B. 6m

C.12m

D. none of the above

Answer: a

o Watch Video Solution

4. If a sun ray's inclination increases from 45°

to 60°, the length of the shadow of a tower


https://dl.doubtnut.com/l/_ojqEaZ7ByLCd
https://dl.doubtnut.com/l/_7PjxobQCmHxm

decreases by 50m. Find the height of the
tower (in m).

A.50(y/3 — 1)

B.75(3 — 1/3)

C.100(4/3 + 1)

D.25(3 + /3)

Answer: d

° Watch Video Solution



https://dl.doubtnut.com/l/_7PjxobQCmHxm

5.The angles of depression of two points from
the top of a tower are 30° and 60°. If the
height of the tower is 30 m, find the maximum
possible distance between the two

A.40,/3 m

B.30y/3 m

C.20,/3 m

D.10,/3 m

Answer: a

I ° Wiadk hh \tAAA CAaliikianm



https://dl.doubtnut.com/l/_yxfK5XTOrYZv

YVOCILLIL VI INAGINIE L )

6. person observes the angle of elevation of
the top of a building as 30°. He proceeds
towards the building with a speed of,
25(/3 — 1) m/hour. After two hours, he
observes the angle of elevation as 45°. What

is the height of the building, in metres?

A.50m
B.50,/3 + 1 m

C.50,/3 m


https://dl.doubtnut.com/l/_yxfK5XTOrYZv
https://dl.doubtnut.com/l/_yWYLkPO8MMWj

D.50(/3 — 1) m

Answer: a

° Watch Video Solution

7.1f the angles of depression of the upper and
lower ends of a lamp post from the top of a
hill of height h metres are a and f
respectively, the height of the lamp post (in

metres) is

hsin(8 + «)

cos asin 3

A. a.


https://dl.doubtnut.com/l/_yWYLkPO8MMWj
https://dl.doubtnut.com/l/_fjkzpSzGkHIW

hsin(f — a)

cos a sin 3

B.b

cos a sin 8
C.c
hsin(B + «)

cos asin 3

"hsin(f — a)

Answer: b

o Watch Video Solution

8. A tower, x metres, has a flagstaff at its top.
The tower and the flagstaff subtend equal

angles at a point distant y metres from the


https://dl.doubtnut.com/l/_fjkzpSzGkHIW
https://dl.doubtnut.com/l/_Ww8oDfT1OONY

foot of the tower. The length of the flagstaff

(in metres) is

y? — 2
x—

A. 5

Y-
y? + 2
x—
y2 —I—CC2

y2—|—ZC2
T 2

B.

C.
Y -

xw2—|—y2
) $2+y2

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_Ww8oDfT1OONY

9. An observer 1.5 m tall is 28.5m away from a
chimney. The angle of elevation of the top of
the chimney from her eyes is 45°. The height

of the chimney is

A.10 m
B.20 m
C.30m

D.40m

Answer: c

I ° Wiak lh \AAaA CAaliikianm



https://dl.doubtnut.com/l/_oNj2NUA3kfPd

YVOILLIL VI INAGINIE L J)

10. Two persons are 'a’ metres apart and the
height of one is double that of the other. If,
from the middle point of the line joining their
feet, an observer finds the angular elevation of
their tops to be complementary, the height of

the shorter person in metre is

A.

DNJIS

2
B. —

V2
C. a\/i
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D.

Answer: d

o Watch Video Solution

1. A round balloon of radius r subtends an
angle a at the eye of the observer while the
angle of elevation of its centre is p. Prove that
the height of the centre of the balloon B is r

, o'
sin B cosec 5

o Watch Video Solution
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Additional Questions Value Based Questions

1. The angle of elevation of the top of a
chimney from the foot of a tower is 60° and
the angle of depression of the foot of the
chimney from the top of the tower is 30°. If
the height of the tower is 40m, find the height
of the chimney. According to pollution control
norms, the minimum height of a smoke-
emitting chimney should be 100m. State if the

height of the above mentioned chimney meets


https://dl.doubtnut.com/l/_ROeECsSxUSom
https://dl.doubtnut.com/l/_5MNEMofP8T1p

the pollution control norms. What value is

discussed in this question?

o Watch Video Solution

2. An army pilot flying an aeroplane at an
altitude of 1800 m observes two ships sailing
towards it in the same direction and
immediately reports it to the navy chief. The
angle of depression of the ships as observed
from the aeroplane is 60° and 30°

respectively.


https://dl.doubtnut.com/l/_5MNEMofP8T1p
https://dl.doubtnut.com/l/_5phaZCJ0nMEF

[a] Find the distance between two ships.

[b] What value has the pilot shown?

° Watch Video Solution
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